iThi5 (R15) 18 B 8

TH4403 A 198 (XER)

Frx ENSEIABE: 2484 o
(gL HEREFEST)
fnfh &h EEh ENFE = (ke) AR b tExIER 5|
A H Y5 x| Hiike | SEME) | fHEME) | REME) | SEME) [ #EE) [ RiEE)
130100 |[7ZLNC A # 19,975
FIE 490 0 490 10 1,620 1,512
EE 4,350 870 3,480 10 1,404 1,080 1,404 1,080
Ri& 13,120 2,680 10,440 12 1, 404 756 1,404 756
130340 [;£ICALA % 12,810
mE 4,040 140 3,900 10 1,728 1,728 648
G 6,770 0 6,770 10 1,296 540
BRE 2,000 0 2,000 10 734
130400 15 % 4,204
F 4,200 0 4,200 10 - - - 1,944 1,566
130500 |f=[TDZ % 112
BRE 72 0 72 /] - - - 4,320 1,944
130600 |[LA A % 1,175
®me 1,175 0 1,175 5 - - - 5724 1,080
131100 [ 3¢ ¥ 25,205
E351 930 930 0 15 2,376
£E 2,975 1,550 1,425 15 1,728 864 1,458 1,404
i L 5,955 1,395 4,560 15 1,296 540 864 648
& 15,345 1,980 13,365 15 1,944 864 2,592 648
131700 |Fv¥ Y #a 60,577
50 36,220 5,690 30,530 10 1,836 156 1,728 810
EE 23,607 15,018 8,589 10 756 680 1,512 648
FFL 750 0 750 10 1,296
131800 | [F5NAE 3 3214
EE 895 831 64| 0.2 92 21 68
®me 800 16 784 4 2,376 2,592 918
P 1,238 0 1,238/ 0.18 97 43
131910 [FHE a3 3,081
PN 49 0 49 05 702 302
EE 154 4 150 05 302 302 265
il Ll 565 0 565 1 1,296 432
E 843 0 843 10 3,132 2,430
BZIE 1,415 35 1,380 5 4, 320 3. 780 4,320 2,700
=40 30 0 30 1 432
131950 |4 % 3,717
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fnfh &h EEh ENFE = (ke) AR b tExIER 5|
AH Y5 x| Hiike) | SEME) | HEME) | REME) | SEME) [ #EE) [ RiEE)
B 1,700 323 1,377 3 1,188 810 1,404 540
BRE 9 0 9 3 756
133400 |LAR % 18,740
E351 6,710 2,100 4610 10 1,620 1,080 2,160 756
£E 8,750 6,670 2,080 10 Z 592 1,296 2,376 1,404
®me 2,650 800 1,850 10 2,268 1,728 2,268 1,080
RIG 630 0 630 10 1,404
134100 |31 a3 13,455
32 4,260 1,000 3,260 5 1,620 1,242 1,836 918
iR 110 0 110 5 1,404 1,134
= 1,080 1,080 0 5 1,728 1,242
=I5 7,440 2,530 4910 5 1, 458 1. 026 1,836 918
134200 |F I % 4,550
—2—-U—5uK 4,550 1,420 3,130 10 1, 404 1,404 1,026
134300 | %t F B 6,962
N 92 0 92 4 2,376 1,404
3] 736 66 670 2 1,080 918 1,296 540
=50 5,141 1,516 3625 0.27 124 86 124 86
12w 618 212 406 03 157 147 157
134400 [r<k g 9,449
£E 1,775 236 1,539 4 1,512 1,188 1,404 864
KI5 2,869 612 2,257 4 1,404 1,080 1,404 1,080
RER 4,752 342 4410 [] 1, 404 1,188 1,512 648
134500 [E—<> 3 11,766
= 2,394 81 2313] 0.15 86 97 76
= 15 9,297 852 8444 0.13 90 86 86 76
135100 [LNAVIF A % 270
=40 30 20 10 2 3. 780 2,700 3,456 3,024
135200 | 3= % 180
FIEIT 180 24 156 /] Z, 1700 1,728 2,646 864
135300 [E—X ¥ 976
L 340 100 240 /] Z 316 864 2,376 756
BR 220 0 220 1 1,188 648
136100 [MAL & 3 10,600
FE 105 0 105 5 1,998
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(gL HEREFEST)
fnfh &h EEh ENFE = (ke) AR b tExIER 5|
AH Y5 x| Hiike) | SEME) | HEME) | REME) | SEME) [ #EE) [ RiEE)
mS 5,495 65 5,430 5 Z. 376 Z. 160 2,819 972
=il 20 20 of o5 162
N 4,030 0 4,030 5 1,944 1,188
136200 [ E#5Z 3 6,950
dtiEE 100 0 100 10 3,024 1,944
BRE 6,850 0 6,850 10 - - - 2,570 1,642
136210 | A—9 4> % 20,830
dtiEE 20,830 0 20,830 10 - - - 2,700 432
136300 [ B ¥ % 1,570
BIE 1,470 270 1,200 10 3.240 2,160 3,240 1,620
fE 100 0 100 10 1,728
136600 [f=F4=E 3 40
dtiEE 40 0 40 10 - - - 5,184
138100 [ LU =1F 3 4,288
£E 225 35 190 0.1 130 97 92 65
®me 3,326 115 3211 0.2 178 259 86
138500 |LHLE ¥ 3,686
=& 3,677 331 3346 0.2 13 60 73 54
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fnfh fnfh EEh ENFE = (ke) AR b tExIER 5|
A H Y5 x| Hiike | SEME) | fHEME) | REME) | SEME) [ #EE) [ RiEE)

240700 | @R M A A % 088

mE 988 550 438 10 4, 320 1. 620 3,780 1,404
241320 | /\¥H % 1,000

L 1,000 0 1,000 10 - - - 2,592 1,836
241481 [T ak> % 6,151

FFrL 1,230 0 1,230 10 3,456 2,160

0 3,536 1,938 1,598 5 1,944 1,080 2,700 1,404
242320 (33 —ILK 3 2,490

LS 2,490 1,150 1,340 10 5. 940 3. 024 5,400 2,700
242830 | SLYA T @ 4,130

L 4,130 570 3,560 10 5. 076 3. 348 5,400 2,160
242850 | YA a3 890

H7 890 120 770 10 5. 184 3. 780 4,860 3,564
246000 |LV\6Z a3 13,228

£E 479 0 479 025 410 162

®me 7 0 71 03 378 324

F 717 348 369 03 540 486 540 486

= 1,950 736 1,215 027 432 216 497 184

B 864 811 53 024 302 194 324 302

KI5 4,062 896 3166 025 335 248 432 162

REAR 4619 3,181 1438 0.25 302 194 324 194

= 5 530 29 500 0.27 270 281 216
247100 [7—JLA A % 366

£4 349 162 187 8.5 13. 716 6. 480 14,040 8,424

= 17 0 17 85 10,800
248300 |FEHh 3L A a3 1,660

= 10 10 0 10 9,720

i 1,650 450 1,185 15 6. 480 Z.700 8,640 2,808




